¥ ox 4>

S A A
= 22 (BIES/HotE - =E)
Olat=& 2tel

i} _ _ FSIER=
2N -3 - c2(3H) - NEME - HES @ @;OH Hon=s2t
AR A 7,640,500 9,416,192 21,775,692
= 296,000
2 1,205,000
[ 291,000
Al 5,848,500
e (AL S /Mot E - £ F) 2,411,381 4,118,300 21,706,919
2 1,205,000
[= 229,000
Al 977,381
AT B 1,027,381 1,120,300 A92,919
2 236,000
[= 105,000
Al 686,381
Olata G 22 2| 107,701 111,442 A3, 741
201 L2 A Y| 34,033 32,329 1,704
02 2229l 34,033 32,329 1,704
OlIS24a4T | 2EHA 22
283,9202 * 16904 * 13| * 1/2 23,992
ONISALE A 2EHA 222
251,0102 * 2000 A * 23] 10,041
202 04| 1,680 1,680 0
01 2ol 1,680 1,680 0
OntsasE $ZEAA SEHOH
70,0002 * 18 = 1Y * 243| 1,680
206 M 24| 32,988 29,433 3,555
01 H2H] 32,988 29,433 3,555
OltSA4+E ASokE 9 22,848
— OH AL 1,5002 * 454 « 990 A * 33 20,048
—_—]= 5,0009 * 8kg * 70IHA 2,800
O+ZZAE AAPY
7,500 * 1690 A * 63 7,605
OFHAME W 2 2,535
—2L 1,5002 * 1690 A * 63 1,521
—4L 3,0002 * 1697 A * 23| 1,014
401 Al & HI L 2 0HY 39,000 48,000 29,000
01 Al&H] 39,000 48,000 A9,000
ONtSALE HLEAE A2E DH(DAIS 5
ES! 2,000,0002 * 6IHA * 13 12,000
Oll2a4+E 9AAS)| DAH(0IE2 8MA)
3,000,0002 * 9IHA 27,000
HOlA 4T A2 2e 332,680 346,000 13,320
401 Al & HIY 201 332,680 346,000 13,320
01 Al&dH] 332,680 346,000 A13,320
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SA =AM
N AAE 2Rl(BATS/MOLE - F)
el 20lat=E 2t (&9 HM
SN HB SR (BIH) - A - B S 0l &b S D=2
Obtsa+E Xzl 332,680
—SRXYG0SA4rTAERN22ES (S
8,08 14, S8 13, =57, thaH14, 2 413)
80,000& * 79044 * 12& 75,840
—4219 024+ A8 S22 (0
LH2, B216, 2410, =14, &4 22)
80,000& * 54044 * 12& 51,840
-5 2g=el 800,000& = 503 40,000
-S4 =% =AXEI| DM (MH26
XI=) 4,000,000& » 54 20,000
—0sd==E =5 =324 WA
7,000,000& * 502 + 13 35,000
~OISAAE Xt ABTA(NSISY M7
X231 %) 3,000,000& * 2094 2 60,000
—DiSaasE SEr2E HA JA L FHbI(
Kot M9ZES 5 #E)
2,500,000& * 200HZ * 13 50,000
OIS AIENELESAEER(E) 250,000 320,000 A70,000
= 75,000
Al 175,000
401 AIEHIZ 2] 250,000 320,000 A70,000
= 75,000
Al 175,000
01 A& HI 248,200 318,848 AT0,648
ODIS&+E AEHS X &X(VEES, 24,
AR, AEZS) 250,000,000& = 99.28/100 248,200
& 75,000
Al 173,200
03 AlE = 01| 1,800 1,152 648
OltS4+E ANENE & EX(FFE,2HE
AR, AEZS) 250,000,000& = 72/100 1,800
L2AEETAIEMNSA(2) 337,000 342,858 25,858
= 236,000
& 30,000
Al 71,000
401 A& HIZ 20| 337,000 342,858 A5,858
= 236,000
L= 30,000
Al 71,000
01 A& HI 334,574 341,624 AT7,050
OARLSZAEMNSAIS (SH, Helun A, Z
& MOH2) 337,000,000& = 99.28/100 334,574
= 236,000
T 30,000
Al 68,574
03 A€ 2 01| 2,426 1,234 1,192
OLRREEAENSAR (S, N2,
& MOE2) 337,000,000& = 0.7198/100 2,426
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SN ATAYA
HE: ALT BE(BYRS/MEAE - £F)
o9 sEsguEEs el (Sl #)
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRs2
sEsguEEs B 1,384,000 2,640,000 A1,256,000
2 969,000
< 124,000
Al 291,000
SESHMEE ML () 1,384,000 2,640,000 A 1,256,000
= 969,000
& 124,000
Al 291,000
401 A& HIZ20HYHI 1,384,000 2,640,000 A 1,256,000
= 969,000
= 124,000
Al 291,000
01 A& HI 1,379,018 2,630,496 AN 1,251,478
OSESAMBIS HLAL(6X7)
1,384,000,000& * 99.64/100 1,379,018
= 969,000
& 124,000
Al 286,018
03 A& R0 4,982 9,504 N4,522
OSESAMERS HLAL(6X7)
1,384,000,000& * 0.3599/100 4,082
ot 22| (BHFES/MoteE - =) 623,000 1,096,000 A473,000
= 296,000
& 62,000
Al 265,000
ot==Xxel A& 623,000 1,096,000 A473,000
= 296,000
= 62,000
Al 265,000
St BN FHIAY 100,000 300,000 A200,000
401 Al EHIZ 2OHY| 100,000 300,000 A200,000
01 A& HI 100,000 298,200 A 198,200
O PHSSTEI(242R)IIBAIL S A
o 100,000
—aAEH & ES 100,000,000& 1A 100,000
SOEDISHETAIE (2) 423,000 796,000 A373,000
2 296,000
< 32,000
Al 95,000
401 A& HIZ 2 CHHI 423,000 796,000 A 373,000
= 296,000
& 32,000
Al 95,000
01 Al£HI 390,429 718,629 A328,200
OSESHENSHEE FHHIAY
423,000,000%0 * 92.30/100 390,429
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A =ZAE A
HHM: ot 2o (BHES/M6teE - =F)
&2t St=Xel Ald (&9 ®M
_ _ _ AT
SAN-ZH-SA(FA) - NFAY - BES O AF K ‘Oﬂ/i\_Fo” Hlw &2
= 296,000
< 32,000
Al 62,429
02 Zeldl 29,610 71,640 242,030
SESHELISo=E FUIAE
423,000,000& * 7.0/100 29,610
03 Al 2CHH] 2,961 5,731 N2,770
O=Es0HENSot=T EHIAY
423,000,000& = 0.70/100 2,961
St=Z HEHIAIE (%) 100,000 0 100,000
< 30,000
Al 70,000
401 AlEHIL 201 100,000 0 100,000
< 30,000
Al 70,000
01 Al 99,300 0 99,300
OHHatH HA3e| o2 HEHIALY
100,000,000& = 99.30/100 99,300
< 30,000
Al 69,300
03 A& 201 700 0 700
OEHatH HA3e| o2 HEHIALY
100,000,000& = 0.70/100 700
HRES (AL )(BEES/46tE - =F) 4,606, 119 4,201,892 404,227
HEHH XIS 4,606,119 4,201,892 404,227
LHEHH XI= 4,606,119 4,201,892 404,227
404 2B NE2HES 4,606, 119 4,201,892 404,227
01 BIIgSEIAHNN=2HES 4,606, 119 4,201,892 404,227
O3JIg+= ML EEH AN=2HES 1,155,675
—SHEE 3RY 2ddl 24
135,675,000& * 14! 135,675
—2E @A N AMAHI(HHIZS SN, AW
AtOFELE) 10,000,000& * 24! 20,000
—3JIg=C MY MEEH
1,000,000,000& * 14! 1,000,000
O3J|dot==83H N=2HES 3,450,444
—otZHTHIAME (A3) 944,600
g7éd Xt 774,000,000& * 1/10 77,400
98 Xt 4,336,000,000& * 1/10 433,600
994 X+ 4,336,000,000& * 1/10 433,600
—ot==Z HEHIALS (01 AL) 112,270
g7d Xt 77,400,000& * 5.0/100 3,870
984 X+ 867,200,000& * 5.0/100 43,360
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SN STARIA
Y YRES(FEALA)(BFEE/MGHHE - +8)
el LS X E

SNBSS - MEAY - BES 0l &k 24

20
B
2

1,300,800,0002 * 5.0/100 65,040

—StaxMeld AL (A2) 175,000
- 2000 X+ 1,000,000,000& * 1/10 100,000

- 2001 R 750,000,000 * 1/10 75,000
—ot=Xeld A& (01X 8,750
- 20001 X+ 100,000,000 * 3.5/100 3,500
20014 X+ 150,000,000 * 3.5/100 5,250

2,102,000,000& * 50/100 1,051,000

—ot=2t)1 & ot=XclEEHl AHIRE=E

1,752,000,000& = 14| 1,752,000
—33hs2elIs LA Jels XF
-593,176,000& * 14! A593,176
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